e SN

PR

MSQ & ¥ K(RIZEEMA M
C MSQC %7 KIREIIEEE
(55F)

~

BAREMINFERE
B—RERZHTE -

C MSQL %7 KARLEEER

ERRE BT
7 ZERESE -
-

© MSQE &35!

PRORTEY = B 1% R

TR 90°RAR B
RT 2B ©

© MSQT &%l
BRORTR —iBEE

AR R0 $H
BEZHE °

© MSQH &7
PRIREY B R

BRARZBRARR
T RARRTZEE

© MSQR &5

PRORE —i@i%EA

w‘

AR ERE, W

BEZHE °

© MSQB %5l
PROREIRZ B3 $EEA (5 5F)

BAREIRERN
s ZeRER 2 A -

C MSQJ &% 45°TiEEER

BAMNMAISHH
ZEEEE ©




MSQ &%l — #R{RpiEEaLAM
SVEBEAR,R~F /| MSQC ~ MSQL ~ MSQE

MSQC %% ¥REI#EEE - SpIF

OC AHIFEE -
Bf:mm
BR | O " #Hig BiETmEmE g8
t. @D | Rc(PT) B R E € 26 L H (mm?) (g)
e M3x0.5| MSQC 4 - M3 35 | 152 | 39 8 16.9 1.33 2.8
— @4 | M5x0.8| MSQC 4 - M5 35 | 151 | 39 8 16.9 491 33
—
1/8 | MSQC4-01 6 114 | 3.9 8 14.5 10 6.16 5.2
o6 26 M5x0.8| MSQC 6 - M5 4 16 3.9 8 18.1 10 491 43
2D | 1/8 | MSQC6-01 6 139 | 3.9 8 17.1 10 15.9 7
3 ey
—— O ZEFIME
T o B :mm
H | |
BE | FE . e | AREEE 2
BN @ | oD | Re(PT) B A B C @G L g ) ®
M5x0.8| MSQC5/32-5/32 | 3.5 | 151 | 3.9 16.9 491 33
Jﬁ = ] 532" QC5/32-5/
i — 1/8 | MSQC5/32-1/8 6 114 | 39 14.5 10 6.16 5.2
R
MSQL &5 ¥K{R L BU4ZER
O KIS -
B :mm
B | OE )y HiE | ANEIEE | E8
o0 | Re(PT) B A B C E @G L (mm?) ©
M3x0.5| MSQL 4 - M3 3 1163|115 ] 142 | 9 | 143 1.33 3.7
@4 | M5x0.8| MSQL4-M5 35 | 167 | 115 | 142 | 9 | 149 3.8 4
1/8 | MSQL4-01 6 | 203|115 | 142 | 9 | 188 | 10 3.8 79
6 M5x0.8| MSQL 6 - M5 3 1201 | 13 | 163 | 11 | 233 | 10 491 7.1
. 1/8 | MSQL6-01 6 |201| 13 | 163 | 11 | 237 | 10 15.9 7.8
C +
*j‘ O B .
BBl : mm
— nl T
g ﬂtﬁ il A BE | FaE . Hi8 | BRUEN | ER
SF — = @D | Re(PT) B R £ ¢ B GG H (mm?) @
H === - 5/32" M5x0.8| MSQL5/32-5/32 | 35 | 167 | 115 | 142 | 9 | 149 | 8 3.8 4
R ] 1/8 | MSQL5/32-1/8 6 | 203|115 | 142 | 9 | 188 | 10 3.8 79
MSQE &%l KR T B =&E&HE
O KIS -
B :mm
BiE B c | @d | E | E | e | AREEER | EE
@bl | @D2 ! 2 (mm?) (®)
@4 @4 | MSQE4-4 3 11 3 9 5.3 3.7
@6 @6 | MSQE6-6 3 125 | 35 11 5.3 7.1
E1 @6 @4 | MSQE6-4 3 125 | 35 11 53 5
o 2d ‘ 3Cl.
-+

8 8 © HEFIFHRE -

o D h B :mm
8( - e B ERUER | B
- [ ) = 1 (iz1f 5] =

- @Dl | @D2 e ¢ od B E. 26 (mm?) (®
= 5/32" | 5/32" | MSQE 5/32-5/32 4 3 11 3 9 5.3 3.7




MSQ &%l — H{RIEEEAM

SPEREIR:R~F | MSQT « MSQH * MSQR

MSQT &% KR T B _i@i%5E

© AHIRE e
Bf:mm
R | FE : HE | ARMEE | =22
@D | Refe) B A B C E | @G | L N ] ©
M3x0.5| MSQT 4 - M3 33 | 166|106 | 14 | 9 | 148 8 133 37
@4 |M5x0.8| MSQT4-M5 33 | 166|106 | 14 | 9 | 148 8 38 4
1/8 MSQT 4-01 6 19.4 | 10.6 14 9 17.8 10 3.8 7.9
g6 M5x0.8 | MSQT 6 - M5 35 19.8 | 12.1 | 15.8 11 16.9 10 491 7.1
1/8 | MsQT6-01 6 |212] 121158 11 | 186 | 10 15.9 78
O© ZEHIEE B -
B :mm
BE | O : HE | ARMEE | =2
@D Re (PT) e A B C E 2G L H (A @
5/32" |M5x0.8| MSQT5/32-5/32| 3.3 16.6 | 10.6 14 9 14.8 8 3.8 4
MSQH %751 ¥R{RE! "i@ZEE
©C AHIEE e
Bf:mm
L AHEEE | =&
1) i}
@D1 | @D2 = G G E a6 L (mm2) (®
24 @4 MSQH 4 -4 10.6 10.6 11.3 9 22.5 53 3
@6 | @4 | MSQH6-4 121 | 106 | 127 11 253 53 7
%6 | g6 | MSQH6-6 121 | 121 | 128 11 256 159 5
rL,
T o =i
gt 0 ﬁ ” _ B :mm
a |le | § BiE 2t A 5 £ o L | BREEE | EE
@D1 | @D2 (mm?) (8)
5/32" | 5/32” MSQH 5/32-5/32 10.6 10.6 11.3 9 22.5 53 3
MSQR %% #K{RE Zi@fRiRIZEE
©C AHIEE e
Bfl:mm
BR | FE ] s | 58 | suEEE | EE
@D | Re(PT) B G| G| E 06 L "y (mm2) ®
24 M12x1 | MSQR4 -4 106 | 3.9 | 16.1 9 39.7| 14 14 53 7.1
[%]3) M12x1 | MSQR6-6 121 | 39 | 169 | 19 |43.1| 14 14 159 7.8
O© TEHIEE B .
B :mm
BE | O ] s | 518 | suEER | 2B
@D | Re(PT) Bs G| G| E @6 L "y, (mm2) ®
5/32" | M12x1 | MSQR 5/32-5/32 106 | 3.9 | 16.1 9 39.7| 14 14 53 7.1




MSQ &% — BR{RIZEELAF
SpERER: R~ | MSQB ~ MSQJ

MSQB %% Ef;EI#%EE - ShF

O RHIFHR e
B{L:mm
BE | IR 4 g AREERE g8
. @D M B A B (o 2G L H sy )
M3x0.5| MSQB 4 - M3 33 15.3 10.6 8 17 15 2 2.8
@4 | M5x0.8| MSQB4 - M5 3.3 15.3 10.6 8 17 2.5 5.4 33
1/8 MSQB 4 -01 6 11.4 3.9 10 14.5 3 7.8 5.2
g6 M5x0.8| MSQB 6 - M5 33 16.5 3.9 10 18.3 2.5 5.4 4.3
o0 1/8 MSQB 6 -01 6 14 3.9 10 17.2 4 13.8 7
R
| — ]
O ZHEFIFHR .
[ © B :mm
® RIS R | FE HE | AuEER | E=
| | = = 1) =
HL,,J“ @D M B A B C 2G L H s ®
< 5/32" M5x0.8| MSQB 5/32 -5/32 3.3 15.3 10.6 8 17 2.5 5.4 33
M 1/8 | MSQB5/32-1/8 6 114 | 39 10 | 145 3 7.8 5.2
MSQJ %35! 45°#%58
O AFIHRE -
B mm
B | IR y Hig BREEE 58
oD M B A B C 2G L H oA )
M3x0.5| MSQJ 4 -M3 3 12.3 10.6 9 25.6 15 2 3
@4 | M5x0.8| MSQJ4-M5 3.5 12.9 10.6 9 26.2 2.5 5.4 3
\ PT1/8"| MSQJ4-01 6 16.8 10.6 9 30 3 7.8 8
N e M5X08| MSQJ6-M5 35 | 157 | 12 11 | 313 | 25 5.4 8
PT 1/8"| MSQJ 6-01 6 16.4 12 11 32 4 13.8 8
AR A .
B :mm
o 4 Hig BiErmiE £
M B K A B C 2G L H (mm?) )
5/32" M5x0.8| MSQJ 5/32-5/32 35 12.9 10.6 9 26.2 2.5 5.4 3
PT 1/8"| MSQJ5/32-1/8 6 16.8 10.6 9 30 3 7.8 8




	3.0-A_部分1043
	3.0-A_部分1078
	3.0-A_部分1079
	3.0-A_部分1080



